	Counting On or Back for Addition or Subtraction
	__________________________

	Mental Math Strategy
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	When to use this strategy: Use this technique if one of the numbers to be added or subtracted is 1, 2, or 3; or 10, 20, or 30; 100, 200, or 300; etc.  It can be used for any of the places, or extended to two places (e.g., to add 102).  This strategy is not recommended for larger numbers.

	How to use this strategy:  Begin with the larger number.  Count on to add, or count back to subtract.  

	

	Examples:
	472 + 3 = “472, 473, 474, 475” = 475.
15,800 – 2,000 = “15,800, 14,800, 13,800” = 13,800.
	Extension: 7,845 + 102 = “the hundreds place increases by 1 and the ones place increases by two” = 7,947.

	
	
	

	Use this (new) strategy on the following:
	
	Use any strategy you know on the following:

	(1.)   843
 + 2

	(2.)   843
 + 20

	(3.)   4,389 + 300 = 
	
	(6.)  Solve
 x + 200 = 759 
	(7.)   720
 – 200

	(8.)   300
 + 920


	(4.)   
Solve
x – 2 = 847
	(5.)   This year the school spent $3,789 on supplies.  Next year, the budget for supplies will be reduced by $300.  How much will be spent for supplies next year?
	
	(9.) In 2004, there were 95,843 members.  In 2005 the number of members went up by 2000.  How many members were there in 2005?
	(10.)   3777
 – 102





	Multiply by 10, 100, 1000, etc. Strategy
	__________________________

	Mental Math Strategy
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	When to use this strategy: Use this strategy when multiplying by 10, 100, 1000, ... (a power of 10).

	How to use this strategy: To use this strategy tack on zeros or move the decimal place (to the right because you are making it larger).

	

	Examples:
	378 x 100 = 37800.  
	5.6 x 1000 = 5600.

	
	
	

	Use this (new) strategy on the following:
	
	Use any strategy you know on the following:

	(1.)  479 x 100 =
	(2.)  10 x 4,296 =
	
	(6.)   859 – 200 = 
	(7.)  24,270 x 10 =

	(3.) Solve  



	(5.) The population of Milford is 6,500.  Hartford is 10 times bigger than Milford.  What is the population of  Hartford? 
	
	(8.)  94.175 x 100 =
	(9.)  Solve
30 + x = 9543


	
	
	
	(10.)  For Internet downloads, dialup speed is .049 megabits per second.  High Speed Internet is advertised to be 100 times faster than dialup.  How fast are High Speed Internet downloads?
	

	(4.)   85.7
 x 1000

	
	
	
	





	Divide by 10, 100, 1000, etc. Strategy
	__________________________

	Mental Math Strategy
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	When to use this strategy: Use this strategy when dividing by 10, 100, 1000, ... (a power of 10).

	How to use this strategy: To use this strategy remove zeros or move the decimal place (to the left because you are making it smaller).

	

	Examples:
	378 ÷ 100 = 3.78  
	560,000 ÷ 1000 = 560

	
	
	

	Use this (new) strategy on the following:
	
	Use any strategy you know on the following:

	(1.)  479 ÷ 100 =
	(2.)  42,960 ÷ 10 =
	
	(6.)   459 – 300 =
	(7.)  84,270 x 10 =

	(3.)     
320 ÷ 1000 =
	(5.) The population of Milford is 7,500.  Bankford is one tenth the size of Milford.  What is the population of Bankford? 
	
	(8.)  94.175 ÷ 100 =
	(9.)   7113
 + 200


	
	
	
	(10.)  On the day before school started there were 519 children in the school.  On the first day of school 20 new students enrolled.  How many students are now at the school?
	

	(4.)   
85.7 ÷ 100 =

	
	
	
	





	Front End Division Strategy
	__________________________

	Mental Math Strategy
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	When to use this strategy: Use this strategy when the divisor goes evenly into the dividend or when the divisor is a one-digit number.

	How to use this strategy: Perform the operation left to right.  The easiest case is when the divisor goes evenly into the dividend. To divide by 5 double it and divide by 10.  If the divisor is a one-digit number, then use short division.

	

	Examples:
	28,608 ÷ 2 = 14,304
480,160 ÷ 16 = 30,010
	27,308 ÷ 2 = 13,654
25,308 ÷ 9 = 2,812

	
	
	

	Use this (new) strategy on the following:
	
	Use any strategy you know on the following:

	(1.)  3,680 ÷ 4 =
	(2.)  74,214 ÷ 7 =
	
	(6.)   
6 + 32 + 8 + 14  =
	(7.)  175 ÷ 5 =

	(3.)  Solve.   
         6x = 840

	(5.) If one-ninth of the fertilizer needs to be nitrogen and there are to be 189 pounds of fertilizer, how much nitrogen is there? 
	
	(8.) Solve.   5y = 610

	(9.)  
 82 × 5 = 

	
	
	
	(10.)  Find the cost per gallon if 4 gallons cost $10.48.
	

	(4.)   

	
	
	
	



	Front End Strategy
	__________________________

	Mental Math Strategy
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	When to use this strategy: Use this strategy when there is no regrouping (“carrying” with addition or “borrowing” with subtraction).  

	How to use this strategy: This is a left-to-right strategy.  To use this strategy just say the numbers and do the operation left-to-right.

	

	Examples:
	“3,050 + 2,010 is 5,060.”  
	80,700 – 50,000 = 30,700

	
	
	

	Use this (new) strategy on the following:
	
	Use any strategy you know on the following:

	(1.)  402 + 106 =
	(2.)  56 + 20 =
	
	(6.)   159 + 310 =

	(7.)  782.70 x 10 =

	(3.)  Solve.   
 x + 200 = 560

	(5.) Last year’s computer budget was $7,200. This year it will go up $1,100.  What will be the budget this year? 
	
	(8.) Solve.   100y = 34.75

	(9.)   7113
 x 100


	
	
	
	(10.)  The table was 230 cm long.  What is the length in meters?
	

	(4.)   
6,300 – 5,100 =

	
	
	
	





	Double Any Number Up to 20
	__________________________

	Fact to Know Strategy
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	When to use this strategy: Use this technique when you need to double a number less than 20 (or add such a number to itself). 

	How to use this strategy:  Note that 215 = 30, and 220 = 40.  Therefore, if you double a number less than 15 you get a number in the 20’s (also you can front-end these).  If you double a number between 15 and 20 you get a number in the 30’s.  Then all you need to know is the ones digit.

	

	Examples:
	(a) 13+13 = “in the 20’s ends in 6: 26
	(b) 18+18 = “in the 30’s ends in 6: 36

	



	
	

	Use this (new) strategy on the following:
	
	Use any strategy you know on the following:

	(1.)   Double 14.
 
	(2.) If one ticket costs $19, what is the cost of two tickets?
	
	(5.)   Solve:  
	(6.)   265 + 103 = 

	
	
	
	(7.) If one shirt it $18, how much is two shirts? 
	(8.)   How many eggs in two dozen?


	(3.) How far can you go on two gallons if you get 17 mpg?

	(4.) Solve:  
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